2025€1R138 () 1E$RSE R

EP—?-—A 9 £ & |[2R 1400m 9— k% C AES : 560, 220, 140, 84, 5675 m”. }
. = 4 = = 1:25.8 WFISERARS 534 14 255 4 435 4 444 3
N 10:20 |HS5HRIE RBF [HEE] B 741.\ §Z< 1:24.6 L—R5y 4@ : MMM 20 MMS 5 MSM 5 HMS 1 Grart /
R HER | PREN | BEMES it 3R E AR 14TE=RFMER Bk BigE (& B) ZhyvaviE B 2TE=L-28 LT 77Z MTH=#IE - FE- AK A
7B & E % B F | KEAMNB LTS8 £roi10%| B F 1400 |HTE=RHAKE-#H BF-T 2, 3, AABBIEE STE=IEA- 1—X - BigRE 244 EAYBF
=) 2@ | B 2 |EnEE/AE|m 4T | ¥ 1000 [617H=L—X R—RFF - chff - #%3F (HEL, NEL, S)EL\) BIE 3 FyL RBIRE 29-b~4f - 3FA~4F - #IF(5~1) LY 3 FIRR
HEEARGERES WH | £ 5 | FU0RH (fm & | By jom | L—ALYSFAL - HBEOLYSFEAL > 05 OBAKTF HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BroX | B £ [127288#| # TEFR| @2 70m i WA E 3R AFERT 5ERT
IV 1A P97~ H3 |36 B[ ... |&F0000 | FmE0000 [2411.0932 F G6m&m3|24.10.19 47 F 4&mm5
HIL8—)L FlEX HA00.0.1 [ F 0000 | KREEF HE
57.0 .222 BR4 0.0.0.0 | ¥=0.0.0.0 | 8 14B11E 1A 3 165816%F 3N K4
111 A | ek NS 0.0.0.0 | F7X0.0.1.0 | 514 -4 #3L5A 56 @@@ 518 #) M@ 56 QO
(Di stor tedHumor) ZE® 250 FH0.0.00 [ F+0.00.0 |1800m &# B 1:57.1 39.7 [ 1600m & B 1:40.5 38.8
J-ALMR ($773ET) [%1] 0.0.1.1 RE0.00T | e MMS 37.5-38.7 433 (10) | MMS 35.4-38.2 523 (6)
(¥K) /-AEMR 1805 | #0500i80 [ £320.0.0.0 | %5+ 0000 | 9+-4-IWk"2(1.5) 55k | byb M+-1(0.9) BE%
BJ—FJOUFY H3I[28 B - - %goooo P9 0.0.0.0 Qf’”'og 28 F  6mER3
.~ OXKBELRH HA0.0.01 | F 0000
YA 55.0 .000 BR40.0.0.0 [ F=0000 |14 158814% 6N K4
12 B4 LE—R | pER— INA0.0.0.0 | F750.0.0.0 | 486 4) HEL 56 QD
W—=5—v7) FEH 000 FH0.0.00 | F£0.0.0.0 | 1800m & B 1:59.7 42.6
7 -t GFROEAED  [E]| 0.0.0.1 RE0.0.0.1 | v MMH 36.8-36.3 111 (14)
M = 05020580 | £ 0.0.0.0 | #%+ 0000 | F443(8.5) IS
YUF—R/— 3 32ﬂ | %gooo 0 [ Fm@0.0.0.0 [24.12.15 31 & Imamo6
A b5 RA0.0.0.1 [F 0000
ARER/—F R |5 %00 R4 0.0.0.0 | F=00.00 | 13 168810F12A
2| Fr—LFUR B | #5% AN 0.0.0.0 | F740.00.0 | 488 4 JIZEE 55 BB
(F2U—"F) FH® 000 FA0.0.00 [ F£0000 [1800m & B 1:59.7 42.9
RIB 45 GO ED [%]] 0.0.0.1 [ 0001 | 2400071 | --® ---[MM 36.6-38.3 521 (14)
53 (8K 0020380 | £ 0.0.0.0 | 3 0000 | y3-5 W-(4.9) %
FLo*> H3 52 ©: - %gmoo FI0.1.0.0 %12.0743 FAFms
> = P ABREEL | § 490-490 | 40000 [ F 0000
TANZAFT— 55.0 .222| F 54-54 R4 0.0.0.0 | F=0.0.00 | 2 1688 1% 1A 8|&AN
4o |5 L5312 REE | $OBFME | &R 12520 | 1A 0.0.0.0 [ F750.0.0.0 [ 490 #) B#E 54 DO
(A—FA7F07) FEHR .000| R 1252 | £40.0.0.0 | F4£0.0.0.0 | 1400m 5 B 1:25.2 36.2
DokI7-L (FFOFE BT [#]] 0.1.0.0 [£0.1.00 | 240100 | ----@---|[MM 35.8-37.2 355 (1)
AR 84T 29075 | #%0%£0%1580 | £ 0.0.0.0 [ %48 0000 490y (0.0) KE%
RV 74 43 g:%ﬁs’i B %;0.0.0.1 F090.0.0.1 2*4_12.*114 33 F 4Fm5 24.%9.21 32 10.4 36
s fig RA0.0.00 [ F 0000 1
R—=—XBTR 57.0 .235 B4 0.0.0.0 [ F=0.000 |5 1638 9% TA 13 1488 TH1BA
3 Yy Ioay HE | BOEN | BB 12670 | N4 0.0.0.0 | F550.0.0.0 | 448 0 ExE3E 56 @@ | 448 %) #2355 QDD
(T4 KRS ya) ZH 250 BB 12676) | T4 0.0.0.0 | F+0.0.0.0 | 1400m 4 B 1:26.7 37.6 | 1600m ¥B B 1:39.5 37.5
B f— (BR{uED [#]] 0002 [Z0001 [£40001 | ---®----[MM 353-38.4 245 (2) | MMM 36.0-34.7 341 (13)
R8I #a 5575 | #0%:02£0:80 | £ 0.0.0.1 | 38 0000 | 42 47 Y17 (0.6)  ZiB% | 4 555(3.6) k%
TIN—RAT—F H3 |35 ZF| ... |&Z0000 |FEE01.01 |2411.16 30 F 6m&R5| 24.11.03 36 < 6m&b2 | 24.08.24 35 9.6 20hmb| 24.08.03 46 9.1 23mm3
’;‘l’j)l,*“ JLIS— M5 b0 B 464-464 | mA0.1.0.1 | F 0.0.0.0 | FKEEF BRI FREEF
< 57.0 .000| /¥ 56-56 R4 0000 [ F=0000 [9 ~ 1388 1% 5A |&A| 2 138E12% 2N K4 |6 988 1B 4N BN | 3 113 8% 6A 4
33 SNN—TF— B | MEERA INF0.0.0.0 | F7K0.0.0.0 | 466 +2 ERETE 56 DD | 464 +2 BB 56 QM| 462 -4 EE 55 (DDD| 466 #) ¥z 55 Q@@
(Majesticperfection) FH 000 HER 1278@ | A 0.1.0.0 | FH£0.0.0.0 | 1400m &4 B 1:27.8 40.3 | 1400m &% F 1:28.1 39.7 | 1600m A B 1:36.3 36.5 | 1600m A B 1:36.9 33.9
i FHIR = 4015 (B & HD [%1] 0.1.1.2 SH0N101 | e MMS 34.3-38.7 412 (8) [ MSS 35.4-38.5 532 (3) | MMM 35.8-35.5 533 (8) [ MSH 36.9-33.3 523 (8)
AR EE 40075 | #0%12£0580 | £ 0.0.1.1 | 758 0000 [ L 13092 (2.3) Sekid | vpvmpawvb (1.2)  %ekZE | 5977706 (1.0) SEE | S-10-(1.0) kESE
ERESEYY] 33 gﬁﬁﬂg I %;o.o.o.o Fr0.0.0.0 [24.11.09 34 F 6m#R3
S S 40001 | F 0000
e 57.0 000 BR% 0000 | F=0000 |10 1588 7% 5A
4 RESYA—IL RE | KIRE#Z NS 0.0.0.0 | F750.0.0.0 | 468 4] EHE 56 @O@
(ToRLT A —H—) FEH 000 EA 0000 [ F+0.000 |1800m & B 1:57.4 42.1
S1L%I5 FTO 20N [%]1] 0.0.0.1 20001 [ -oeeens MMH 36.8-36.3 411 (13)
HE 9% 05020380 | £ 0.0.0.0 | #mr 0000 | F4H3(6.2) kS
Iz %) #3 [ 41 B &:::: |[&F0000 [FmEO0O0T1 [2412.22 32 & Im#p8|24.12.08 45 F Tm#pd
AT—h{HF = =HH FH0011 | F 0000 | fLRBEF [4:3: 08
= 55.0 .063 R4 0.0.0.0 [ F=0000 [ 3 168E16FI0ON K5 |4  T163EI14F 8A 4
LY 8| 2| z=—+H TR E |88 INA0.0.0.0 | F750.0.0.0 | 446 0 BOE 54 ®® | 446 #) EZEB 5 OD
(R¥—hkT7L2V) FE® .000| mE 12708 | 4 0.0.0.0 | F+£0.0.0.0 | 1400m # B 1:27.0 38.6 | 1400m & B 1:28.2 38.7
205 (B EHET) [#]1] 0.0.1.1 [Z£001.1 |24001.1 | - -®-@---[MMS 35.3-38.2 433 (5) | SSM 36.0-37.7 433 (6)
KNI 1 25075 050220580 | £35 0.0.0.0 | 28 000 0 Y A7Y7(0.9) EEE | munnia(1.6) kkE
J7IVAT A —IL H3 [ 34 T |BZ00071 | FME00.1.0 [2410.27 30 ¥ 5mams| 24.10.06 38 F 5maER2 | 24.08.10 31 F 209m1| 24.07.20 34 ¥ 2f=B7| 24.06.29 46 F 2%@&1
U RLH LS VS HE AR | 5B 482-482 | =& 0.0.1.1 | F 0000 | FKEEF ES: E3 Tl SR BEF o E
< 57.0 .250| f 55-55 BRA0.000 [ F=0002 |6 958 2& 5A M | 3  115E10%F 4N K5 |7  163EI6FE 2N K4 | 2 133 5% 3N 3 9mA 3% 2\
59| a3 75125 =0z BE | BRE= INZ0.0.0.0 | F550.0.0.0 | 474 -4 EFK 56 DD | 478 0 BH X 56 @@ | 478 -4 $RHH 55 482 0 FlE 55 @D | 482 %) KFHB 55 @D
(AwesomeAgain) BL [ B3R .000| FE 1268@) | T4 0.0.0.0 [ F£0.0.0.0 | 1200m & B 1:14.3 39.2 | 1400m & B 1:26.8 39.0 [ 1200m # B 1:14.5 39.0 [ 1150m # B 1:09.5 37.5| 1150m & B 1:11.4 37.4
EK4I5 ([ hVHET) [%]] 0.1.2.2 250122 [ e MMM 35.1-37.3 532 (8) | MMM 35.3-37.9 533 (3) | HMS 34.3-37.9 213 (13) [ MMM 31.9-37.5 534 (5) | SSM 33.3-37.7 424 (3)
BT ER 54075 | k0512080 | £ 0.0.0.0 | wmir 0000 | tyb-bE"-AM(1.9) S5 [ 5 /0742 (1.3)  E#E | 7-F M-~ (2.3) k%S | ML -trFv(0.1)  SEEE | Hun ¥1v(0.4) SRS
EX7ZAaAvk 43128 ZF %go.o.o.o FEE0.0.0.0 [24.10.12 27 F 5m#B3
> AHEHEZE 40001 | F 0000
L7 RT—IL 55.0 200 %0000 | F=0000 |16 168816% 4N K5
5(10 vy h B | s AN 0.0.0.0 | F70.0.0.0 | 528 %) R#IE 56 BDMD
(TR T A=H—) F® 000 EH0.000 | F£0.0.00 |1800m & B 2:01.4 44.9
LIS FERT) [#]] 0.0.0.1 RE0.001 | v MMS 36.7-39.6 311 (16)
hi BE K0SE0FE0580 | £35 0.0.0.0 | %51 000 0 | M4 L=} (6.4) EEH
LEREPES H3 |36 T . | BF0000 | F0H0100 |241228 35 & TmER9 | 24.10.06 41 10.1 SimER2
S — R LY WmEEN | B 492-492 | ®AF0.1.00 | F 0.0.0.0 B F
T - 57.0 .143| T 56-56 40000 | F=0000 [ 2 1688 1% 6A &N |11 138I2E TA K5
11| A | 9549247 26 Yot B | Rfe 0000 | FX0000 | 492 +4 FEREML 56 GO | 488 #) B 56 @O
(Vindication) ZH 000 HE 1266@ | T 0.0.0.0 | F+0.0.0.0 | 1400m &4 B 1:26.6 37.1 | 1800m #A B 1:48.3 36.6
ZUB4KI5 (RSATRT) [£]] 0.1.0.1 [£01.00 240100 ]| -@------ MMS 35.7-38.2 155 (1) | MMM 35.1-35.2 542 (10)
IME o 22075 | 0502081 | £20.0.0.1 [ %18 0000 5 47099 (0.1) ZiB%k |70 b (1.5) EhE
FLo+> H3 |34 B . |BF0001 | FE0002 [24.10.13 27 F bmamd| 24.09.21 34 F 3%m6| 24.09.01 39 8.6 299 m8
7 ) K2z ALA-H HA000.1 [F 0000 F ]
d =— 57.0 000 R4 0000 | F=0000 |5 ~ 1158 4% 8A 5 16EE10ZBI1A 9 1178 8HIIA 4t
12 284 F—F BEE | aKB= | AR 12656 | 1hF0.0.0.0 [ F75000.0 | 442 +4 FHF 53 @O | 438 -2 HRH 52 BB | 440 #) A@AA 54 OD
(N—=Y954) FEH 000 ZE 12656 | 4 0.0.0.0 | F£0.0.0.0 | 1400m ¥ B 1:27.0 38.4 | 1400m % B 1:26.5 38.1 | 1400m ZA E£1:24.8 36.5
J-ALMR ($77BET) [#]] 0.0.0.3 £450.0.0.2 MSS 34.6-38.2 253 (4) | MMM 34.7-38.4 154 (3) | MMM 35.3-35.1 242 (8)
() /-Aenr’ 1105 050220580 | £3 0.0.0.1 b 9kryab(1.5)  SESEiB | 29M 190 (1.3) ExE |-V W2 2 hEE
ACE] 3 40ﬁ A %go.o,o.z 24.10.13 33 F b5m#pd z%.n(;?.*zp 37 ¥ 3Fm6 gﬁ,%g.m 3T ¥ 3wl
s g o] HA0.0.0.1 3 %
AALaITAY 57.0 .200 R4 0.0.0.0 4 " 16EEI12EIIA 8 9mE 6&F TA
T(13|o | #4vanm7xss % | BfET 2B 1262@ | N 0.0.0.0 % 56 @ | 502 0 FATE 55 @@ | 502 %) FHIE 55 B@E
(N=Y954) ZHE 000 ZE 1262@ [ E40.0.0.0 1400 & B 1:26.2 38.5 | 1400n & B 1:26.2 31.6 | 1800m & B 1:50.4 40.2
248 CRTHT) [%]] 0003 £45000.3 MSS 34.6-38.2 443 (5) | MMM 34.7-38.4 155 (1) | SMM 39.8-36.5 421 (8)
WA SFHE 1667 | 05020580 | £3 0.0.0.0 Jeb Oheyab (0.7)  He4E3E | 19M4 19 (1.0) ERE | ME 157(4.0) S
FLo+> #3 %6 Zl A %go,o,o.o zgizn%zﬂss B TmH#s 2*4”;.*9]0 35 F  TmEN tZFAI:#EO,Z 4379.9 6mERI
> e WA 0.0.1.1 I |
Ry ag<) R 55.0 .267 R4 0.0.0.0 5  168A14% 5A s | 3 13EEI0F 6A 4 |9 147 9% A
114 at| 7ox250 4 = | AR INA0.0.0.0 462 -2 FIN%h 65 Q@ | 464 0 FHA 55 @@ | 464 %) HFHK 55 66
(=L E7Ya—) T .400| A4 1269@) | T 0.0.0.0 1400m & B 1:27.1 39.1| 1400m % ¥ 1:26.9 37.9 | 1600m =B % 1:37.6 36.7
B B 405 CRsATRT) [%]1] 0.0.1.2 | £ 0001 | 240011 -| MMS 35.3-38.2 533 (9) | SMM 36.3-37.7 543 (6) | MMS 36.0-36.5 433 (8)
FH EMTF 1955 | #04:03£0380 | £ 0.0.0.1 1=y 3797(1.0) #EE | 45 1 v(0.3) WS | Povh $u5R 0.7) KERE
L1740 43 ;}g Z[ O %goooo 24.10.19 44 10.4 5m#5
N _ HIBE R4 0.0.0.0
j—)( Hi 3 9 EEN 57.0 .333 B4 0.0.0.0 9 145812%& 4N 4
815 J73—aRX—L BE | WKBX IV 0.0.0.0 478 %) K2 56 Q®
(RunyBvhIx) @ 333 EH0.0.0.0 1400m A #1:23.7 36.2
RIEYUS A [#]] 0.0.0.1 40.0.0.0 MMM 34.8-36.2 314 (5)
L 05020580 | £ 0.0.0.1 7ov92 (1. 0) ZiB%
EX7ZAaAvk 43 A %go.o.o.o 24.12.14 43 B Tm#5
< — RA0.0.0.1
EXHARA R4 0.0.0.0 5 143E12% BA St
816 EXLFA—E— £ In0.0.0.0 458 #) iRk 56 @M
(Unc | eMo) EH0.0.0.0 1200m & B 1:15.3 37.0
B 8415 (B &) [#] %0001 [ 240001 MSM 36.4-36.8 153 (3)
() %ot 40-Ya7h 405020580 | £3 0.0.0.0 AN Ay - (2.1) kES
I — I 1400mE4 F A A (SEHEARS : 2023. 01.11~2025. 01.10)
33 P HERS 17/ 2% 3&F &5 BE ExtE 44 BF4 HERS 1% 2% 3F &S BE ExE
2 8RB E 50 6 1 3 40 0.120 0.140 15 &R W28 25 2 2 219 0.080 0. 160
4 EEA O 47 5 5 730 0.106 0.213 2 @i 18 1 3 212 0.056 0.222
6 IR ME 36 5 3 3 2% 0.139 0.222 24 R# 12 1 2 3 6 0.083 0.250
7 HH K 4 4 6 5 2 0.098 0.244 21 BER 159 10 1 1 4 4 0.100 0. 200
9 = ®B 40 4 0 4 0.100 0.100 36 M A—E 19 1 0 1 17 0.053 0.053
10 M. FL—n 17 3 2 0 12 0.176 0.294 45 iR H— 6 1 0 0 5 0.167 0.167
13 KB F4H 51 2 3 3 43 0.039 0.098 55 @4 #N 23 0 1 22 0.000 0.043
R A — ~1400miE 4t B Rkl (SERHHARS - 2023.01. 11~2025.01. 10) RETH HER 3FARE
IERr  EHES HERS 17F 2% 3F &S BE et % %% 1 2 3 45 6 7 8
1 P 59 7 4 43 0.119 0.186 ¥ ©0®m (37%&M=E) 18 19 19 23 17 19 18 20
2 - 34 5 4 2 23 0.147 0.2 0 _ZIZZ_
3 53 5 2 739 0.094 0.132 7 RAIE
4 16 4 4 0 8 0.250 0.500 7 Ol¢) SEIF5AT (534, 544) 6 Hobknk
5 4O 31 4 2 5 20 0.129 o194 T _____ BFAIE L (434, 445) 2 *x
6 Into Mischief 10 4 2 0 4 0. 400 0. 600 h @O® F<Y  (255,355) 1 %
1 SxREYA 8 4 1 320 0.143 0.179 5 0O BLVAZ (335,245) 1 x
8 E—UZR 32 3 5 1 23 0.094 0.2%0 o _____
9 TYF—TAIL 21 3 1 3 14 0.143 0.190 P
10 oSy—nRo—XxX 8 3 1 0 4 0.375 0.500 % L

L _ BEERT 0. HHORERZ. HEWH. BFEEGE. INTERBRTOUBREBELTTFSL,
20254E1A 138 (M) 1EIHRESE 2R S R3IF RBFA  [HEE] HBEH 140m 54—k - &£ AN OOER. BEHERLEFT,



